
ISC 2019 – 27.01.2019  

Cat 1 

Problems Difficulty (261  Solvers)  

ID Tag Difficulty Average 5(Correct Solution) 0 < Pts. < 5 0 (Wrong Solution) - (No Solution) 

12 S#5 952 0.24 12 1 53 195 

5 #8 832 0.84 44 0 96 121 

6 S#3 800 1.00 44 14 99 104 

3 + 782 1.09 23 118 61 59 

9 = 720 1.40 46 113 58 44 

2 #3 700 1.50 20 99 65 77 

11 #4 682 1.59 66 26 68 101 

10 H#3 658 1.71 22 121 18 100 

4 H#4 626 1.87 80 35 28 118 

8 #3 450 2.75 82 92 41 46 

1 #2 126 4.37 228 0 32 1 

7 #2 122 4.39 229 0 30 2 
 
1)  #2 Gevers  1. Sf5!  wrong key: 1. Rc6? 11x 

 2) #3 Bunting  1. Kc7! wrong keys: 1. Sxd4? 11x; 1. Sc7? 10x   

missing or wrong variations: Rch3 64x, exd6 41x, d3 39x, Rd3 38x, Qxb5 17x, thr. 14x   

3) e.g. Fritz 1. Se1+!   

wrong moves: 1. … Kg4? 18x; 2… Kd5? 15x; 2… Sxg3? 24x;  

3. Sf3+? 28x; 3… Rd4+? 10x  

4) h#5 Müller, Wiehagen  1. Rf5 / Bf4 

38 solvers with one sol: Bf4 28x; Rf5 10x  

5) #8 Werner  1. Bh4!  

wrong moves: 1. Rb7? 32x;  2.Rxf6? 16x  

6) S#3 Gülke 1. Se3!  

wrong key: 1. Qc6? 53x 

missing or wrong variations Bg4 9x; B~ 7x; Kxe3 4x; thr. 4x  



7)  #2 Rukhlis 1. Bg7! wrong keys: 1. Rc3? 24x  

8) #3  Votruba 1. Sd4! wrong keys: 1. Sg5? 17x 

missing var: Re3 51x; Rexd4 36x; thr. 30x; Rdxd4 26x;  

Rxde5 22x; Rexe5 15x; Kxe5 12x    

9) e.g. Minski, Waelzel: 1. Ke4! 

wrong moves: 1. Sd6? 22x; 1…Bg1? 10x; 2… e4? 42x; 2…h2? 23x    

10) h#3 Jones  1. Bb2, 1.Qd5, 1. Qd1  

24 solvers with 3 sol., 63 solvers with 2 sol., 58 solvers with 1 sol. 

only Bb2 27x; only Qd5 9x; only Qd1 22x;  

Bb2/Qd5 42x; Bb2/Qd1 17x; Qd5/Qd1 4x  

all solutions with Bb2: 110; with Qd5: 79; with Qd1: 67      

11) #10 Kromath 1. Ree5!  

wrong keys: 1. exf7? 27x;  1. Rfe5? 11x;  

missing var: 2. …e4: 23x   

12) S#5 Alaikov 1. Bc8! wrong keys: 1. Qh6? 13x 

  



Cat 2  

Problems Difficulty (151  Solvers)  

ID Tag Difficulty Average 5(Correct Solution) 0 < Pts. < 5 0 (Wrong Solution) - (No Solution) 

4 #4 914 0.43 13 0 65 73 

3 #3 886 0.57 14 7 87 43 

9 #3 868 0.66 11 17 68 55 

11 + 868 0.66 6 70 35 40 

2 #2 802 0.99 30 0 109 12 

12 S#2 736 1.32 18 41 42 50 

6 H#2 644 1.78 35 35 38 43 

5 + 622 1.89 36 71 11 33 

7 #2 490 2.55 77 0 52 22 

10 #5 476 2.62 79 0 24 48 

8 #2 450 2.75 83 0 50 18 

1 #2 324 3.38 102 0 45 4 

1) #2 Shire 1. Sc7!   wrong keys: 1. Bc7? 17x; 1. Rc7? 8x  

2) #2 Lacny 1. Sxf5! wrong keys 1. Sf3? 27x; 1. Bxf7? 19x; 1. Qc3? 13x; 1. Sc2? 12x; 1. Rd8 12x 

3) #3 Gevers 1. Se6! wrong keys 1. Kc6? 37x; 1. Qd8? 9x; 1. Se2? 9x 

4) #4 Kalinin 1. Bb8! wrong keys: 1. c7? 19x; 1. Bf2? 15x 

5) eg Minski 1. Se3+! wrong moves: . Kd1? 17x; 4. Kf2? 7x 

6) h#2 Baier Rd8, Bf8, Sf8     

solvers with 3 sol: 35; with 2 sol: 16; with 1 sol: 19  

only Rd8: 11; only Bf8: 6; only Sf8 2; Rd8/Bf8: 6; Rd8/Sf8: 3; Bf8/Sf8: 7  

all solutions with Rd8: 55; with Bf8: 54; with Sf8: 47  

7) #2 Gevers, Van Damme: 1. Sc4! wrong key: 1. Bxb5? 21x  

8) #2 Dubrila: 1. Be8! wrong keys: 1. Rg4? 28x; 1. Qxd7? 14x 

9) #3 Daniel: 1. Qd1! wrong keys: 1. Qb5? 16x; 1. Qb3? 13x  

missing or wrong variations: Be3 11x; Ke5 9x; thr. 9x; Kd3 7x; Kf4 5x 

10) #5 Cheney 1. Rh4! wrong key: 1. g3? 13x 

11) eg Van der Marel 1. Sb4!  

wrong moves: 1. Rxh7? 12x; 1…Rxh2? 13x; missing 1…Rxa7 12x; 3. Qh1+? 18x  

12) S#2 Makaronez: 1. Rg6!  

missing or wrong variations: R6dx5 27x; Kxd5 23x; R4xd5 19x; Sxd5 18x; thr. 9x    

  



Cat 3 

Problems Difficulty (231  Solvers)  

ID Tag Difficulty Average 5(Correct Solution) 0 < Pts. < 5 0 (Wrong Solution) - (No Solution) 

3 #2 744 1.28 59 0 167 5 

4 #2 714 1.43 66 0 150 15 

2 #2 676 1.62 75 0 148 8 

5 #3 624 1.88 57 60 96 18 

6 = 512 2.44 66 76 54 35 

1 #2 464 2.68 124 0 103 4 
 

Created by WFCC Solving Tournament Manager 

1) #2 Kakabadze 1. Sc5!  

wrong keys: 1. f3? 33x;  1. Sd2? 29x 

2) #2 Jonsson 1. Qh6!  

wrong keys: 1. Qg3? 46x; 1. Kb2? 44x  

3) #2 Latzel 1. Sb2!  

wrong keys: 1. Se3? 40x; 1. Sf2? 35x; 1. Rxa1? 19x;  

1. Se5? 14x; 1. Sd2? 10x; 1.  Sg3? 10x 

4) #2 Mortimer 1. Rc4!  

wrong keys: 1. Rd4+? 28x; 1. Sb6+? 20x; 1. Sb3? 16x; 1. Re5+? 12x 

5) #3 Moller 1. Rg8!  

wrong keys: 1. Rb8? 46x; 1. Rh8? 16x; 1. Rc8? 11x; 1. Kxc2? 9x  

missing variation: Ka2: 60x 

6) eg Markevitch 1. Bxa2!  

wrong moves: 1. Bb3+? 30x; 1. Sxc2? 9x; 1. Sxg2? 9x; 2…Rxc2+? 14x; 2…Ra3+? 9x 


